PORT. :hager

Product Environmental Profile
USB Socket, C+C PD 20W, sq, pw matt

Company information References covered

Hager For the complete list of the covered references, see details in Appendix.

132 Boulevard d’Europe
F 67215 Obernai Cedex
www.hagergroup.com

A question concerning the Product Environmental Profile: inffo@hager.com

Methodology

PEP has been performed according to the PCR version PEP-PCR-ed4-2021 09 06 and PSR version PSR-0005-ed3.1-2023 12 08 issued by the PEP ecopassport program.
For further information, please see the website of the program www.pep-ecopassport.org

Reference product identification Provide 2 USB-C PD connection type charging point, up to 20W, and for the
270419 reference service life of the product of 10 years

Use scenario based on :
PSR product Category : PSR-0005-ed3.1-2023 12 08 The functional unit is based on the use scenario recommended by the PCR for the category of the
3.10. SOCKETS reference product.

PEP ecopassport 1/5 HAGE-01508-V01.02-EN



Materials and substances

All useful measures have been adopted to ensure that the materials used in the composition of the product do not contain any substances banned by the legislation in force at the time of marketing.

Plastics Metals Others
g % g % g %
PC 24.04 18.3% Steel 26.13 19.9% Cardboard 40.68 31.0%
Epoxy resin 2.11 1.6% Ferrites 6.41 4.9% Paper 6.91 5.3%
PE-LD 0.63 0.5% Copper 4.30 3.3% Wood 3.12 2.4%
Epoxy resin 0.59 0.5% Cast iron 2.13 1.6% Glass fiber 2.42 1.8%
PA66 0.58 0.4% Tin 0.91 0.7% Other 5.04 3.8%
Other 2.31 1.8% Other 2.84 2.2%
Total mass of reference product with raw material
packaging : BHBE
Total mass of reference product 12493 g

(Product + packaging)

System Boundaries

The environmental information included in the PEP covers all the stages of the life cycle, from "cradle to grave".

Manufacturing

Distribution

Installation

End of life

Module D

Raw material extraction
and processing
Transport to the manufacturer

Manufacturing
Distribution to
the place of operation

Installation on
the place of operation

Use or application of
the product installed

Maintenance

o

£

ES

2 > 20

£ £ 2 29

S = s >

7} =

e 3 - c o

= Lo [0} c s 8
S < c o 2% o eyg Qo = _
. g S ¢ 8 S8 = t E ® © T
© o © £E® E® = S ® g > 3
s | ¢ s | eg| 8| T |82 || 8
14 B 7] ER 5 3 2 S S 3 @2
[5) & 3 o T o K} S5 F= =

x ] o c (=) & o 2

3 5 = | Eg

3 - (0] o 0

2 e £ | 23

w = = =

[2]

=

s}

B3 B4

Life cycle stages

Benefits and loads
beyond the system boundaries

Manufacturing

These products are manufactured by a site that has received an environmental certification

1ISO 14001.

The packaging has been designed in accordance with current regulations. In
particular, the European directive 94/62/CE relative to packaging and packaging
waste.

This phase takes into account raw materials, manufacturing processes, production offcuts

and their end-of-life treatment, upstream transport of materials and sub-assemblies to the
manufacturing site, and transport from the manufacturing site to the final logistics platform.

The used packaging is 100% recyclable or recoverable.
Packaging and logistic flows are continuously improved in order to reduce their
impact.

This phase taken into account the transport of the finished product, including
packaging, to its place of use.

Distribution

Installation

Installation processes

The processes to install the product are not considered in this study because of their weak impact compared to the other life cycles steps.

This phase only take into account the impact of the packaging waste treatment.

Installation elements (non delivered with the product)

Elements non delivered with the product and needed to install the product are not considered.

Power loss / load dependent

Power consumption / not load dependent

Active mode
Watt % of time
0.715 30.0%

Inactive mode

Watt
0

% of time
70.0%

Active Sleep phase Passive Sleep phase Turn off phase

This corresponds to a total energy consumption of 21.79 kWh for the use span of 10 years.

Energy model of the use phase :

Europe

Consumables and maintenance :

None

PEP ecopassport

Watt % of time Watt % of time Watt % of time
0 30.0% 0.049 70.0% 0 0.0%
2/5

HAGE-01508-V01.02-EN



End of life

Considering the complexity of the recycling channels for electric and electronic equipment impacts, we rely mainely on ESR modules (datasets for WEEE product end of life).

The recycling potential of the product is: 45%. The calculation of this rate is based on the method of the IEC/TR 62635.

Environmental impacts

Evaluation of the environmental impact covers the following life cycle stages: raw materials + manufacturing (RMM), distribution (D), installation (I), use (U) and end of life (EoL).

All calculations are done with EIME software version 6.3.3-9 with the database version CODDE-2025-04.
Indicators set : Indicators for PEF EF 3.1 (Compliance: PEP ed.4, EN15804+A2) v2.0

PEP representative of the covered products marketed in: Europe

Energy models considered for each phase

Manufacturing Distribution Installation End Of Life

A1-A3 A4 A5 C1-C4

Environmental impact indicators

A . Manufacturing Distribution Installation (VET:Y End Of Life
Indicators Unit | A1-A3 | A4 A5 B1-B7 c1-Ca GLOBAL
Acidification (PEF-AP) mole H+ eq. 5.58E-03 3.27E-05 1.56E-04 4.61E-02 4.82E-04 5.24E-02 -6.60E-04
Climate change - Total (PEF-GWP) kg CO2 eq. 9.92E-01 2.07E-02 1.22E-01 8.81E+00 2.06E-01 1.02E+01 -1.08E-01
Climate change-Biogenic (PEF-GWPb) kg CO2 eq. -6.35E-02 8.48E-08 7.28E-02 1.95E-01 3.40E-03 2.07E-01 -4.27E-03
Climate change-Fossil (PEF-GWPf) kg CO2 eq. 1.06E+00 2.07E-02 4.91E-02 8.61E+00 2.03E-01 9.94E+00 -1.03E-01
g‘gﬁ‘g;};ﬁﬂfe‘m”d useand land usechange | 0 0 aq. 3.58E-05 3.13E-08 3.88E-10 0.00E+00 5.66E-10 3.58E-05 0.00E+00
Ecotoxicity, freshwater (PEF-CTUe) 1.03E+01 6.05E-01 6.93E-01 1.32E+01 2.93E+00 2.78E+01 -3.51E-01
EF-particulate Matter (PEF-PM) 3.37E-08 2.81E-10 9.21E-10 3.61E-07 4.78E-09 4.01E-07 -8.15E-09
Eutrophication, freshwater (PEF-Epf) 3.84E-06 7.74E-08 6.74E-07 2.11E-05 2.49E-06 2.82E-05 -3.85E-06
Eutrophication, marine (PEF-Epm) kg N eq. 6.67E-04 5.93E-06 6.34E-05 5.40E-03 1.04E-04 6.24E-03 -9.29E-05
Eutrophication, terrestrial (PEF-Ept) mole of N eq. 7.24E-03 6.51E-05 4.69E-04 8.65E-02 1.15E-03 9.54E-02 -1.06E-03
Human toxicity, cancer (PEF-CTUh-c) CTUh 4.12E-08 4.06E-12 5.36E-09 1.09E-09 2.25E-08 7.02E-08 -1.55E-09
Human toxicity, non-cancer (PEF-CTUh-nc) CTUh 3.19E-08 7.74E-11 1.52E-10 2.58E-08 4.46E-09 6.24E-08 -2.46E-09
lonising radiation, human health (PEF-IR) kg Bq U235 eq. 2.89E+00 7.33E-04 7.36E-03 1.15E+01 3.58E-03 1.44E+01 -2.35E-03
Land use (PEF-LU) No dimension 1.06E-01 8.87E-05 1.73E-04 2.34E-01 1.76E-01 5.15E-01 -4.12E-01
Ozone depletion (PEF-ODP) kg CFC-11 eq. 1.09E-07 2.51E-10 7.26E-10 3.77E-08 6.52E-09 1.54E-07 -4.57E-09
f;g;‘f;’gggja' ozone formation - human health | | ¢ NMVOC eq. 2.30E-03 2.11E-05 1.07E-04 1.71E-02 2.94E-04 1.98E-02 -3.64E-04
Resource use, fossils (PEF-ADPf) MJ 2.07E+01 3.68E-01 5.11E-01 2.11E+02 9.74E-01 2.34E+02 -1.11E+00
2;;";’” ey TS e il (A= kg Sb eq 3.23E-04 7.39E-09 2.67E-09 2.86E-06 5.16E-07 3.26E-04 -3.06E-06
Water use (PEF-WU) m3 eq. 3.78E-01 7.46E-04 4.30E-03 6.68E-01 5.09E+01 5.20E+01 -1.04E+02
Resource use indicators
. Manufacturing Distribution Installation Use End Of Life
Il eetiere A1-A3 A4 A5 B1-B7 c1-c4 SEUEEL

Net use of fresh water 8.82E-03 1.74E-05 3.26E-04 1.56E-02 1.23E+00 1.26E+00 -2.43E+00
Total primary energy 2.21E+01 3.69E-01 5.80E-01 2.61E+02 1.13E+00 2.85E+02 -1.39E+00
Total non renewable primary energy 2.07E+01 3.68E-01 5.11E-01 2.11E+02 9.74E-01 2.34E+02 -1.11E+00
Total renewable primary energy 1.36E+00 1.16E-03 6.90E-02 4.95E+01 1.51E-01 5.11E+01 -2.79E-01
Non renewable primary energy used as energy 1.96E+01 3.68E-01 5.11E-01 2.11E+02 9.74E-01 2.33E+02 -1.11E+00
e e 1.07E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 1.07E+00 0.00E+00
Use of non renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Renewable primary energy used as energy 1.05E+00 1.16E-03 6.90E-02 4.95E+01 1.51E-01 5.07E+01 -2.79E-01
NICTEND U Gy B2 & 3.11E-01 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.11E-01 0.00E+00
Use of renewable secondary fuels 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Use of secondary material 3.30E-02 0.00E+00 0.00E+00 0.00E+00 0.00E+00 3.30E-02 0.00E+00

PEP ecopassport 3/5 HAGE-01508-V01.02-EN



Waste category indicators

Indicators

Manufacturing

A1-A3

Distribution

A4

A5

Installation

End Of Lif
C1-C4

e

GLOBAL

Hazardous waste disposed 3.19E+00 8.67E-05 2.93E-03 2.43E-01 2.80E-02 3.47E+00 0.00E+00
Non hazardous waste disposed 6.04E-01 1.92E-03 1.41E-02 1.33E+00 6.15E-05 1.95E+00 0.00E+00
Radioactive waste disposed 1.64E-04 1.52E-06 3.21E-06 3.13E-04 4.29E-08 4.82E-04 0.00E+00
Output flow indicators
. Manufacturing Distribution Installation End Of Life
Indicators A1-A3 A4 A5 B1-B7 c1-C4 GLOBAL

Components for re-use 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Exported energy 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Materials for energy recovery 1.36E-03 0.00E+00 4.57E-03 0.00E+00 0.00E+00 5.93E-03 0.00E+00
Materials for recycling 1.07E-02 0.00E+00 3.72E-02 0.00E+00 0.00E+00 4.79E-02 0.00E+00
Biogenic carbon content
Bioge bon conte 2.80E+01 3.78E+01 3.95E+01

a 4.07E-02 8.14E-03 3.12E-03 5.19E-02
Bioge bon content (declared 1.14E-02 3.08E-03 1.23E-03 1.67E-02
Bioge bon conte ona 1.14E-02 3.08E-03 1.23E-03 1.67E-02

ource ADEME APESA/RECORD EN 16485

Product Cardboard
0.00E+00 0.00E+00 0.00E+00 0.00E+00

Biogenic carbon content (declared unit) 0.00E+00 0.00E+00 0.00E+00 0.00E+00
Biogenic carbon content (functional unit) 0.00E+00 0.00E+00 0.00E+00 0.00E+00

Extrapolation rules

For each reference in this homogeneous family (see Appendix), the environmental impacts for each phase and indicator are derived from life-cycle analysis (LCA).

Verification

Drafting Rules PEP-PCR-ed4-2021 09 06
PSR-0005-ed3.1-2023 12 08

Information and reference documents: www.pep-ecopassport.org

Registration N°:  HAGE-01508-V01.02-EN

Supplemented by

Verifier accreditation N°:  VH64
Date of issue: 5-2026 Validity period:
Independent verification of the declaration and data, in compliance with ISO 14025 : 2006

Internal @ External o

5 years

The PCR review was conducted by a panel of experts chaired by Julie Orgelet (DDemain)

PEPs are compliant with XP C08-100-1:2016 or EN 50693:2019
The elements of the present PEP cannot be compared with elements from another program.

Document in compliance with ISO 14025 : 2006 « Environmental labels and declarations. Type Ill environmental declarations »

Nota :

The picture has no contractual value.

All numerical values indicated in this document may vary and depend of many factors such as the tolerance related to materials, the usage and environment conditions of the products, installation characteristics ... , real values for a product in a
concrete application may therefore change.

The usage time mentioned in this document is an average duration chosen for the need of the calculations. This value cannot be assimilated to the minimum, average or real life time.

The responsibility of the company, issuing this document, can never be engaged if differences would be noticed between the values given by this document and real ones, whatever the causes and/or consequences would be.

PEP ecopassport 4/5 HAGE-01508-V01.02-EN



Appendix

(PEF-Epm) - [kg N eq.]

human health (PEF-IR) - [kg Bq U235 eq.]
Land use (PEF-LU)

Exported energy - [MJ]

ion, marine

Components for re-use - [kg]
Hazardous waste disposed - [kg]
Materials for energy recovery - [kg]
Materials for recycling - [kg]

Net use of fresh water - [m3]
Non hazardous waste disposed - [kg]
Radioactive waste disposed - [kg]
Total primary energy - [MJ]

Use of secondary material - [kg]
Water use (PEF-WU) - [m3 eq.]

=
3
+

I
o
S
E
o
<
L
w
=
c
S
©
S
bl
S
<

Ecotoxicity, freshwater (PEF-CTUe) - [CTUe]
diation,

Resource use, fossils (PEF-ADPf) - [MJ]
Total non renewable primary energy - [MJ]
Total renewable primary energy - [MJ]
Use of non renewable secondary fuels - [MJ]
Use of renewable secondary fuels - [MJ]

Eutrophication, freshwater (PEF-Epf) - [kg P eq.]
Eutrophicati

Climate change - Total (PEF-GWP) - [kg CO2 eq.]
Climate change-Fossil (PEF-GWPT) - [kg CO2 eq.]
Human toxicity, cancer (PEF-CTUh-c) - [CTUh]
0Ozone depletion (PEF-ODP) - [kg CFC-11 eq.]
Renewable primary energy used as energy - [MJ]

ing ra

Climate change-Biogenic (PEF-GWPb) - [kg CO2 eq.]
Eutrophication, terrestrial (PEF-Ept) - [mole of N eq.]
Human toxicity, non-cancer (PEF-CTUh-nc) - [CTUh]
Non renewable primary energy used as energy - [MJ]
EF-particulate Matter (PEF-PM) - [Incidence of diseases]
Renewable primary energy used as raw material - [MJ]

Non renewable primary energy used as raw material - [MJ]
Resource use, minerals and metals (PEF-ADPe) - [kg Sb eq]

Climate change-Land use and land use change (PEF-GWPIu) - [kg CO2 eq.]
lonisi

Photochemical ozone formation - human health (PEF-POCP) - [kg of NMVOC

22 270419 ssocor| smar| s rooo] sscon| woneen| roscin| swiao| osrear] raueas] ooero] seen| arscan] siocan| sec] o] roeos] soreer] vsmcor| swscor| vsscan| oo roseor] soreos| sseor| soscar] suseo| sweer] 2oro] smeod] o] saein| ssme] st omeo] sece] armeon
£ 1
2% 270415 ssiean| ameor| soses| roseon| ssueos| aoomon| vosceo| assean| eweos raeio| owocon| aseeio| asaeon| rcon) sovetof roneor| sancon| roreae| ameon) cocor| rsoceor| soreso| sooeor| aameon| soneas| roscos] roseusof aveor| soreeor| saeor| soreeor| sareuor| ssoeioo] ooneco| owean| azeca| areeon
£ 270425 sien) saseor| sucor| orean| smees| omeno] somem| svon| i csern| omon| srrem] smean| soren] arse| sscar] ssien] se| ascor| soscor] o] srcor| sorear] sucen| ares] recnd] soein| secer] ] sucor] srseo] | ssieco] omeno] ooern| smeca] sseor
f=
g 270429 ssaen] sarcor| suce| omen| scos| omeo] o] meon| soos] cocan| owomen| s ssscan| sises] ame] soscar] soien| se| soen| swen] ncin| sorcor| saoca| sscon| svcn] sovcan] soren| swer] | smeoe| srsca] o] sreen| ameso] ooein| sseee] smeo
LRI 5| ocor| o] sorcor] orcon] o] ssren| scren| srear] s oweo] | socon| soses] | sveon| s aoreen| o] sricor| smwon| soscor] sorear| soson| ssoco] ssieor] omer] sascor] smein| smees] ] surer| save] o] omeo] 5| seon
LRI 5o o cor| ] corcor| zorcoe] o] osrcun| scren| srocan] scan| omeo] | soson| swoca] ascin| ooeea| ssacr zorcan| o] sricor| saen| soscar| sorcar| sose| ss0em] soicor] omer] sscor| vawior| smea] | swiwor| rave] oomen| omozeo] swese] mcor
(ISTRELII <cor| oo comean] soscon| ssis] o] soscn| swcss] aveon] raie] onen] sron| wro] sssean| aseon] siscar] seor] soren] samon| soor| ssseo] soren| soeor] soo] amean| ssio] o] sveor] somee] sascor] zoren| sareo] 1| omeo| o] ssece] ameer
UVTREETTI < cocon| soccor| sascra] oncun| sscon] o] ncsor| soces| sarean] racon| omeo] avuean| aeon| siocao] oein| soncr| v roreae| oezeo] socor] soomr| soreao] somcar| soeos| s voscor] sasco] svicor] soren| smeor] o] soier| o] oomen| omeco] swese| ameor
[AETREVI -oocor| osscor| oo oneen| sseon] somc] o] sscoe] cuscan] roeon| o] ucn| aoson| svcio] | aceer| rsmeo| scon| soree] soscon| ssser| ssse] sorear| soeon| sasei] smeor] o] sescor] ssn| sorcar] sosern] zrr| sme] o] omoo] 5| o
IACTREETIVIN < cocon| ooocor| o] cncun| sscon] oumcno] ncion| seee| sican] roreon| omeo] avucin| soscs| ss0eao] asein| soneer| 1amcio| scon| o] soscor] sorr| oo sorcar| socos| sover] rascor] sraco] somcor| soir| szicas] socin| sreer| sl ooen| omeeo] swese| ameor
270419 smeoe| s sucen| soren| s ooein| soson| rrucas| soron| ssieos| o] ssreos| assern] smear| roeon] sarces| ooeun| oo srucas| somor| ssocon] onen| aseco| sover asvees| ssees] sseco| omee| ssscer] rascon| ssser| secan] ssscan] omto] o] omene| e
270415 sarcas| zorcan| oucen| smesa] ancon| omeo| soscor| mcon| swoo] corcas| owmen| osreas| somese| rrn| rrocan] sreos] omeo] aoncn| rcoe| ssae] suscor| ommon| zsiero] zsrcsnf avees| 1sacss| sucon] omeseo] sescor| romen| swscar] sescor] seces] ameno] oomern| omes] rascad
270425 sreos| s swten| soren| s ooesn| oo rrucas| soron| ssveos| o] ssreos| assern] smear| roeon] sarces| ooeun| oo sricas| soror| ssocon] onen| aseco| sover] asvees| ssees] sseco| omee| ssscer] rascon| ssser| secan] ssscan] omto] o] omene| e
270429 sarcas| zorcan| oucen| amesa] ancon| omeo| soscor| rmcon| swoo] corcas| owomen| osreas| somese| rrn| rrocan] srcos] omeo] aoncn| rcoe| ssae] suscor] omomon| zsiero] zsrcsnf avees| 1szcss| sucon] omese] sescor| romen| swscar] sescor| sces| ameno] oomern| omes] rascad
LRI o] scor| soon] soseam| avcon| o] aseor] soeon| wiseis] somcos| omweno] cuscas| soesa| swoer| suscar] osos] o] o] snees] rascn| arcor| o] sascrs] aeio| ssocss| ssucas| osees] wome| ameor| sssces] areeor| ameor| ssscan] ooern| omoo] woe]| sson
LRI - crs| ocon| omso] sascan] coon| o] wscor| soeen| wescas] somcos] omeno] suscas| socie| swomr| ssscor] soscs| o] onern| snees] raicn| armcor| omeo] samcio] aoeio| ssocas| ssucon] owes] aomc| ameor| ssscw] zrecor| areor| ssocon] oomern| omozco] aomer] sseor
[ISTRELI -vcoo| zovee] suscon| soren| svoio] o] socor| rric| sveon| ssveo] somean| ssreos| asoen] sriear| roees] saress| oeun| owess srucos| somon| ssoco| onen| asteco| zover] asiees| ssecs] sssc| omene| ssscer] rascon| ssseor| soan] ssscan] omeo| o] omee| e
UVTREEITI -orcos| corcor| oiocao] zorcan| smcen| o] soscor| rmces| sime| sorcon| omeo] eorcas| soneie| rrien| ramcor] omreos| aonco] ooesn| sricas] ssmcin| sosr| omeao] zsrciof soreio| zriess| rszcon] o] o] sor| vasea] sescor| soscor| ssocm] oomern| omoso] aoner] ruscor
IACTAES I 5ocos| ocor| swoes] zosean] sreen| sosc| smeor| rrion] sacas| suscon| o] srseas| aorean| risens| raseor] smeon] somew| ssese| smees] somean| soreor| o] zaresn] ameio| s ssees| 1] aens| soeor| raes] sereor] sssr| ssoes] o] o] s rseon
IVACTREETTVIN - ccos| corcor| siocas] comcan| smcen| o] simcor| rmices| sun| sncon| omeo] eracas| soreie| rsser| rascor] sneos] aomco] asrcse| sreas] somcan| sorr| omeao] zarciof areio| smess| rszcon] 1] o] sorr| rasca] sreor] soscor| ss0cm] oomern| omoco] aoner] rscon
6% 270419 ] e rmeon| aoean| smesn| o] oweor| aner| eseor] someor] wosen| suocen| ssce] s roeos] o] wsrean| sreas| smcar] vueer] sveor] soern| ramesn| soveso| soreas] smeco] aseor] ooeuo| ssveor] soreon| sricor| sms] aeor] oveo| women| csese| sso
= 270415 ssocan| 1meor| rneaa] asreae] saeio] ooeo] swocor| sricor| sseas] ssocar] oonein] o] ssocon| 1szeio] o] ircad] woreor| e szscor] rarcos] se] omesn| rameio] smeo] soread] socos] o] omern| sricor] oras] siicor| smcor] soeee] omern| aomeio] ovoseo] szocan
iz 270425 swosse] ireor] woece] ssseae] womeo] ooeo] osseon| cameo] aseas] asseod] aomon] soras] ssseon] ismen] rareas] awseor] smec] o] swseor] coee] son] omevn] ren] o] iesor] smeo] ssese] ooen| sseor] 2orso] aseon| s asee] ooevn| woreoo] aszo] ssean
270429 oo sviea| sweae| sucer] assero] ooern| somor| samcar| sorcon| ssacos] oonein| sores| wsocso] ssscon| o] smenn] avon| sieen] ssmcor] sacor| ssscon| oonen| o] osrero] soncor] swees| scan] oven| soscar| zorean| soscor| surcan| smeae| omoeeo| aomero] overn| sweao
LRI o] cor| e ascos| soeoo| o] seor| oneor| s soeor] oweno] sa| swcos| ssm] rasean| imeos] wsre smeen| smeos] rurcar| sveor| oweso rasers| omeio] sieas] sees| osea] o] sveor| 2o srrcor| soeor| ssocs] ooern| omreo] o] seon
LRI o] cor| o] sorcan] soein] o] esmeor| oncor| sass| socor] omeo] ssmes| socn| ssacio] ramcan| e wsreso| ameae| smees] rorcan| sveor| omeao] rascio] omeio] soreas] scos| owea] o] sveor| aeree] svicor| sovcor| ssocse] oomern| omoco] oomer] een
(ISTRELII o] o] rovcen| aseon| sseo] o] omeon| sricar| ascon| ason] sonen| soss| ssoes ssmean| romeen] ] ssor| smeen] samcor] sueor| suor] ooen| rmeio| sarero] sorcor] smecs| ssess| omene| sier] sreos] sweor| swocor] sseca| omeco] o] omene| sxeeo
(STREENIVIN oo o] ravcan] aorce] smocro] oncrn| svear| sricar| socos| socon] ooncn| orn| szocao] sszeso| roeen| 1rcan] ssrean| ameea] sascor| vueoe| svicor] oomen| rueio| sziero] rorcor] smees| osese| owern| siar| zrean| sveor| suocor| ssmese| omoeeo| o] overn| sxear
IACTAES VI rcoo| o] swcm] smean] soein| somci| ascor| soreor] sumcos| ascor] oo siocan| asss| s o] asren] sse| svor| aro] sameon] asseor| oo ravess| omeio| s soices| o] o] assr| sio] asscor| ssror| ssoc ooen| orreo] oo sseon
IVARTREETTVI o] omor| soocsa] wamcan] socon| o] ssscor| sovr| sucas| ocor] omeao] siocan| asren| 1sacio] mean| o] smeo] avcce| arces] samcae| scr| omeao] ramcio| omeio| ormess| zoces] oweca] aoncr| sr| vioca] ssscor| sszeor| osocse] oomern| oroco] o] ccen
270419 ssier aeen| sseor| s ocern| oweno] o] aveon| swem| suscas| osoon| zioo| soseon| aseen| 5| ascor] oweno] sone| sscon| o] asveon] osoon| smeio] ssreer| sreea] srcas] asein| omess] 2| aocoe| srren] aoree| asser| o] o] oreuo] suscon
270415 soies) rcsn| sor| soreno] onern| omero] o] 2vcos| suoeo| cuscan| owmen| sioca| soncan| sseen| 1sscon| zoicor] omero] aoncn| sscoa] o] 2nce] ommon| smeso] ssrcar] smieea] srocae] sscion| omese] 2vcie| osee] 2] zorce| ssszr| ameno] oomern| oroso] sscor
270425 ssiee areen| sseor| s ocern| oweno] o] aveon| swem| suscas| osoon| zioor| soseon| aseen| 5| ascor] oweno] sone| scon| o] asven] osoon| smeso] ssreer| sreca] srcas] asein| omess] asven| aocoe| srren] aotee| asser| o] omen| omeeo] suscon
270429 soies) rcsn| sor| soreno] onern| omero] o] 2vcos| suoeo| cuscan| owmen| sioca| soncan| sseen| 1sscon| zoicor] omero] aoncn| sscoa] o] 2nce] ommon| smeso] ssrcar] smieea] srocae] sscion| omese] 2vcie| osee] 2] zorce| ssszr| ameno] oomern| oroso] sscor
LRI o] oveon| s | oson| o] aeen| anees| sioco] soscan] oweno] sascor| soeon| zsocs 1sseeon| asser| o] onern| 1seen] s aree| o srrean| soeor| srie] ssseor] wsteo] oo aree| ssses] 2sveon] zoreon| asseon] o] omeo] o] ssseon
LRI o] oorn| oo asrcn] ocomn| oo zein| nees| siocs] siscan| omeo] zascor| somon| asocao] 1vscin| sosr| oo onern| ssca] o] arie| omeo] srrean| sorcor| sricsa] asscor] wsscn] aomcr] aree| aesca] 2rce| avrer] e oomern| omozo] oomer] sscor
(YIXYRELIVI - ovcor| sorcoo] soscor] osreon| o] oern| vsmemn| zrieos| sucon| soser] sonen| 2ieor| ssio] sssean| soser| sacon] oenn| owens] sasean] sswn| srrean] soen| smeon| sovear] srieen] sreos] asmeor] omene| zrie] somcos| zrion| sorean] o] omeoo| o] ovene| sseer
(EXYRENIVIN < ocoo| corcoo] soscor| ocican| o] ooern| 1| avicss| sucon| sosco] woncn| 2er| soocao] zsscan| siscr| ssea| oern| omero] rescan] ssesn| zrieaa] somean| sreoe| sovear] rrcan| svs] aoscon] overn| arie] semcar] arioe| zore] aoer] omonco] omeno] overn| o
IAETRESYI -ocor| socon| ssocm| oein| smeor| oomco] oern| sores] smean| soreon| omeao] zsicor| oores| sz rmeion| sssceo] aomen| socor| | ssmcon| sorce| omeao] sorean| sorer| s asveor] somea] oone| some| sezs] sogee| awovn| soreue] oonen| omoco] oones] smeon
IVARTREETTVI -ovcor| o] ssoco| mcvn| smeor| o] osern| aveas| swem] soreoe| omeso] zacor| soreos| szcso] 1meir] orscen] oomeo] socor| o] ssmcon| soe] o] ssmean| ssreor| arscs] aovcor] surea] womc| soee| sezca| sozee] assmn| sore] oomern| omoo] o] azeon
£3 270419 arcos] soneor| sueen| srear| sewesn| oweo| sose| suon| soso] s1scan| ovomon| sroesn] ssseon| aseen] s meor| oweno] sone| smen| s sricor] omooo| ssmes] srmeon| asis] wmes| ssrcor] oo sricor| swcor| smr] ee| sser| o] ooern| oreuo] someo
:
5O 270415 ancor] zoeor| swoeos] zoseor] sao) oooero| 2sseeo| zsgon| rosgos] r1seos oooeeoo| zsoeoe| zoseon| sscos] asaco] wrseor wooeo] oo rseeo| erscos| wraeor| oooioo| esacos| aracos| zoscor| smeon| rsicor| onoewco| wracor| siscor| ameor| rrseico] rsicor| osogo| osoeoo osotoo| saseor
2 270425 ssicos] soscor| aoseos] socor] saseo] o] arieeon] aweos| seos| soeos oooeoo| zsscoz| avos| soscos| siscos] ssseor| wooceoo] ococeoo roreeoo] srcos| ssscor| ovoeoo| ssscos| szscos| aricos| soacos| svcor| ouoeoo] ssscor] sarcor| ssscor| ssseor| sarcor| o] ouoio| otoro] ssseor
I
270429 siacas] zorcor| soeon| ssoean| swecn| omero| zescm| 2meon| ovics| siocan| oson| ssocsa] zascan| ameen] scaei ssrear] omero] woncn| sorsn| soscas| sricor] omomoo| ssocso] smean| amees] wercso| 1acor] omeseo] wricer| sucor| sricar] orern| ssr| omeno] oomern| ori] s
LTI o] o] soicor] someon| o] o] ssein| omer| wseas| soeor] omeo] smeae| meon| swscao] srocos| smcen| o] oern| zeeea] arscas| socer| omeao] suscon| o] srscas] ssscan| o] aomes| ser| zrces| somcon| soveor| roves] ooneen| omoso] aone]| sineor
LRI o] ocor| swicor] somcon| soein| o] asevn| omeor| wsress| smcor] omers] samcan| meon| ssscao] srocar] smcen] oo oern| sceca] arscas| sor| omeso] sascan| o] svicar] auean| o] aomcr| scor] arcas] sescor] ssseor| roveso] ooern| omoo] o] sineor
(STRECISVI o] cvocor| siocon] omcr| swoo] onern| zsscn] zian] soor] srem] ooneon| soneen| szscao] ssscon| sssen] srcan| oern| omweo] | vsos| smico] oonen| osreo| arao] zocor] smeeo| 1srcon| overn| omsca| siecor| meor| s sotcor] omroo| ameso] overn| sicee
(EXYRENIVIN o] coocor| sancon] somer| ssocro] omern| aso| s socor] o] woncn| oseon| szscao] sascan| sssn| srsca| oern| omero] | svcoe] omico] sonean| szeo| aroca] ssicor] amece| rsrcon| overn| omicar| ssecor] ameor| sroeio] ssrcor] omco] omeno] overn| siese
IAETRESYI o] o] csocm] soscor| soeio| oomco] sosrn| o] sumcas| soron| omeao] cancan| smcon| wrscao] sucen| sseor| oomen| sonese| soreao] soncos| soscr| o] sancon| szseo| arcas] ssucan| ssico] oomer| sosr| sirear| soscor| ooseor| saica| ooneen| omoco] aone] e
UVARTREETTVI oscor| oor| asoco soscor| soeoo| o] socrn| smeae| sues| oreon| omeso] zamcan| smcos| szieso] aucan| sssr| oonco] somese| sore] savcas| ssscr| o] sascan| smis] amar] ssucen] ssea] aoe| osicor| surear| soicor] sseor| soican| ooern| omoso] o] e
270419 wocan] o] o] oseor| voesn| woneen| ssrcon| o] omeos] oseen] ooeso| woneen| vsscon| vsse| asseao] «cn] oonsn] woneen| sasen] o tvicn] ovrio] sreon] ssseon| soscor] o] amcan] omtus] o] seneoe] csresn] o] amcan] omtu] ovro] sonece] ouen
270415 ooz savcor| meon| smem] o] oweo] sercan| oscon| smeos] omcn| osrn| o] ssscan| sicen| s ssacer] omwero] wone| sen| o] vean| osooo| usrea] asscan| ssin] wone] ameer] omese] vevn| sueoe] 1] sen| areer| ameno] o] ores] ot
270425 swocan] e o] avcen] voesn| woneen| smmeon| s rmcos] o 0c0s] ooesn| woneen| rsicon| 2| aco] srcon] oonsn] aoneen| cosen| o] scan] ovrio] 3scon] reneen| svacor] o] nescan| owtio] seor| reoe] seseor] | vescan] omtu] ovro] onee] e
270429 soocos] sanean| soon| omen) oonern| owen] o] vecs| soees] srican] ooorn| o] ican] 2 vn| smeo] areer] omeo] wore asesn| o] sancor| osooo| soica] renean| s ves] oime] scer] omese] sescor] acsoe| o] s mern| avcor| o] o] orio] amere
LTI - x| 2 o] vms] 2r0cn| ooosn| o] sovcan| soren| o] sreon| omeo] soneon| soein| s armeas| soscr| aume] onesn| 2] aonen| eon| omeao] armeis| rosen| vs0cao] onern| zwece] aone| swon| srers| rncan| areen| zovese] oonen| omoco] aone] snecn
LR PIIUTI = x| 2 o] 2seos] 2100| ocen| o] sovcan] sorece| ] srees| omess] woren| soese| sssera] rreas| sser| o] o] arn] woren| ocon| o] wrreie| rosen| rsoes] o] aorca] wone| oeen| sr| rascan| aries| soves] o] omio] o] seen
(IESTRECII <] sooco| worcan] soncor| o] onesn| sscon| soscan] smeon| 10| ooneon] oson| 1s5000] ncon| amcen] 4rmcan| ocesn| omweso] ssen] oorn| 1] onean| sreen| ss5cao] seor] omeo] arcon| ovesn] s 1] soncon] s rin| 3500 2rscor] omoo] o] o] sniea
(YPSYRETINIVIN < ocoo| so0co| sorcan| soser| oenno] onevn] sseer| suscs] smece] soce] onetn] osrn| 15500 asean| aseen] raca]| osesn| e et ooesn] s i) sonean| secn] o502 icon] oseo] ] ovesn] i) sencan] o] ] amear] omco] o] o] o
IAETRESYI <coco| omeor| o] mcan] omen| oomcto] meor| smeoo] romcas] s neoe] o] onein| sosen| zraeao] cmean| smeer| aoneoo] oesn| csmea] soneon| ssseor| o] osean| o] svacan] onern| zir| aonen| ser| 2] ssscor] szoven| ziocan| oomen| omoo] aone] e
UVARYREETIVIN < cocor| oscon| sores] ssmean| omecn| o] smeer| sseae] rmes| s ueoe] omes] sonen| ssscs| 212020] -omean] smeer| oene] oesn| o] o] scor| o] sovean| rores] srscar] o] 2] o] sor| aessa] siseor] 420m00| 2i0cor] o] omo] o] e

PEP ecopassport 5/5 HAGE-01508-V01.02-EN



